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SM2H 9.3 HW-Using the Unit Circle

Refer to the diagram below. Give the letter or letters that could stand for the function value.
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For the indicated point, tell if the value for sin 6 or cos 6 is positive, negative, neither (zero), or undefined.
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Find the exact value of each trigonometric function using the unit circle as a reference.
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Find the exact measures of the angle (in degrees) using the unit circle. \oo < V'\ﬂ ‘Q)\/ Qa ij 12
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Find the exact value of the expression using your unit circle. Do not use a calculator.
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Find the exact values of sin @, cos 0 ,tan @, csc6,sec, cot 6 where 0 is an angle in standard position whose
terminal side contains the given point. Reduce fractions if possible.
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